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1 KEF ERA | 45 47 92 | 228 | 69.2

2 g 8 36 40 76 6 70 BGENP
3 N B— 44 47 91 204 | 706

4 Bl E 40 45 85 | 144 | 70.6

5 Bl =0 38 41 79 84 | 706 NP2
6 fat fER 42 43 85 | 144 | 70.6

7 b FEER 41 42 83 12 71

8 WA i 48 53 101 30 71 NP
9 TER 28| 45 55 100 | 288 | 71.2

10 o #%E 44 42 86 | 144 | 716

11 EH A 40 45 85 | 132 | 71.8

12 X #He 40 44 84 12 72 NP
13 NS ZFHI 37 41 78 6 72 NP
14 HESEDS 43 52 95 | 228 | 72.2

15 Tk IER 40 44 84 10.8 | 73.2

16 Bk W 42 45 87 13.2 | 73.8

17 mi FEZ 44 48 92 18 74 NP
18 AR XX 55 53 108 | 336 | 74.4

19 A i 41 43 84 96 | 744

20 | FEE BH— | 45 49 94 | 192 | 748

21 | =ER BHEF | 44 50 94 | 192 | 748 NP
22 =% HH 42 46 88 132 | 748

23 | A FEFX | 45 48 93 18 75

24 g E1T 50 49 99 24 75

25 1Eik RIE 48 56 104 | 288 | 75.2 NP
26 R FE 46 51 97 | 216 | 754

27 FIEf 1F— 43 47 90 | 144 | 75.6

28 ElE gt 41 48 89 13.2 | 75.8

29 | BEf FEE | 46 48 94 18 76 NP
30 | —~fK —[& | 47 44 91 144 | 76.6

31 Ky =RF 46 50 96 19.2 | 76.8

32 | &= SfF | 42 53 95 18 77

33 2iE KBS 45 49 94 | 168 | 77.2

34 ¥ E— 45 49 94 | 168 | 77.2

35 bt FF 41 47 88 108 | 77.2

6 | E=E BEF 48 51 99 | 216 | 774

37 HiEE KX 48 51 9 [ 216 | 774

38 e BE 42 48 90 12 78

39 Tk EH 44 52 96 18 78

40 i BExE 49 57 106 | 276 | 784

A1 Ay ESE 56 58 114 | 348 | 79.2

42 =H FE 48 56 104 24 80

43 KE IE& 48 58 106 | 25.2 | 80.8

44 IR =— 52 61 113 30 83




